Shift-reduce example 1
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Shift-reduce example 2
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Shift-reduce example 3

® Grammar: F — FE + FE|FE x E|id
Input: x + y + =

Show a parse tree, and corresponding s/r parse, that repre-
sents left-associativity of addition.
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Shift-reduce example 3 (cont.)

® Grammar:

F —-— FE + FE|FE x E|id
Input: x + vy + z

Show a parse tree, and corresponding s/r parse, that repre-
sents right-associativity of addition.
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Dealing with ambiguity (cont.)

® For xxy*z, consider where the two stack configurations that

can occur for the two parse tre;a:s LcLliffer. What is the correct
decision? T
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